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201 Lt | 7,283 7,283
01 At 22|l 7,283 7,283
OXIRINDEEHESAAY 29 - 22
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HY2H A 25,766 24,426 1,340
Jl2d(RFATH ) 25,766 24,426 1,340
M2 25,766 24,426 1,340
201 L2 | 14,780 13,440 1,340
01 AtR2telt] 14,780 13,440 1,340
FA2E+=2H| 7,280,000& 7,280
OJ |28+ Sl 7,500,000 7,500
202 04d| 7,386 7,386
01 2LHOLI 7,386 7,386
OJ|2g2=& 0t 7,386,000& 7,386
203 ZR =& 3,600 3,600
M FA2ILEFL 3,600 3,600
OFRAM2IHRFAHI 3,600,000& 3,600
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LHEHe XI= 21,166,454 18,8%4,348 2,272,106
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R IISEES 20,678,487 18,8%4,348 1,784,139
01 JI13HES 20,678,487 18,894,348 1,784,139
OMi7SI =3 HEXEH
20,678,487,000& 20,678,487
KXy &afet 487,967 0 487,967
311 XL S0l Ktk 487,967 487,967
03 SLEEXL S0 Atate 279,917 279,917
OMdi120I1=2 SLERXNL= Olktat
279,916,800 279,917
04 XILIHSH 0| RHarst 208,050 0 208,050
OMi7SI12 KNLMHEH Ol Ktats
208,050,000& 208,050
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M ylAOY S % 28

SRl LHAIQIE HIAHH o1 (Cre = 2l)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se

308 AHXIHM SO & 4,200 4,200 0
= 4,200
01 AXEHILEES 4,200 4,200 0
OJ=0g SA=A2AZ
4,200,000 4,200
= 4,200
ANI=RREA 22| 13,559 10,978 2,581
301 LEBNEF 13,559 10,978 2,581
10 AIBISRQJEAZ 13,559 10,978 2,581
Oo==3 6,000,000& 6,000
Os4A| 924,000 924
OuSh| 396,000 3%
O1l=hl 2,789,000& 2,789
OMNA=RRE 2tEs| S 1,900,000& 1,900
O2Y ASI=SR2 H&EE HE S
625,000 625
OHHMaES 925,000 925
22 g§HESd 481,972 456,310 25,662
201 Ler2 | 26,500 26,950 A4
01 At 22|l 14,500 7,200 7,300
OSeASlg| M4
4,000,000 4,000
OCCTV SAEE SRAIAH R
10,500,000 10,500
03 @At2ZH] 12,000 10,000 2,000
OuldlZ2le JIE&AL 12,000,000& 12,000
403 XIS HMS 201 A 455,472 429,360 26,112
03 HHlIzZsdXIdXE2Ex 455,472 429,360 26,112
oodlzstl =4 ¥ 23X
455,472,000& 455,472
e (g == 23t 2,878,060 2,684,398 193,662
= 597,955
N 675,000
Al 1,605,105
et et 25t 1,069,322 1,006,553 62,769
= 549,955
Al 519,367
lete] wsed a3 8,492 8,142 350
201 L2 | 3,142 2,792 350
01 AtR2telt] 3,142 2,792 350
OgAns 2Ag 1,350,000& 1,350
OXEUE & JI=X2il =29
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_18_




A= Algetdzs SA Bl TR
M pligel g2 =4 23
el Ly Hat (Gt H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
Ol RSA EE M
350,000 350
OTAl Lg2H= RO S 900,000 900
202 04t 1,750 1,750
01 20 1,750 1,750
O=t? 2dd2 S 1,750,000 1,750
208 BF =2l 3,600 3,600
03 A=Y R =AY 3,600 3,600
Ould & g 2 HiAH 5 24
3,600,000 3,600
e ME AJlus S8 UWalst 12,000 10,500 1,500
308 AXIHMSOIH 12,000 10,500 1,500
01 MASHNBSExRS 12,000 10,500 1,500
Qg AJNSE SAt=E
12,000,000& 12,000
el nEEA(KHE) 169,009 208,116 A49,017
= 96,515
Al 62,584
308 NXIEHMSOIH 159,099 208,116 A49,017
= 9,515
Al 62,584
01 MIXHMBdEx= 159,009 208,116 A49,017
Oaded ua+g 56,880,000 56,880
= 33,459
Al 23,421
OJl=XEdl & 82u=s
19,807,0002 19,807
= 11,652
Al 8,155
oggteleltd 24 5,158,000 5,158
= 3,034
Al 2,124
Ottsgtel A8 =3
7,100,000 7,109
= 7,109
OLRAUT JAE 21,327,000& 21,327
= 12,545
Al 8,782
OX22UAL =4 7,978,000 7,978
= 4,694
Al 3,284
OAOIB WS 2F3H| 40,840,000 40,840
= 24,022
Al 16,818




A= Algetdzs SA Bl TR
M pligel g2 =4 23
el Ly Hat (Gt H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
okl NSEH(MNE) 10,000 10,000 0
= 3,000
Al 7,000
201 Ler2 3| 10,000 10,000 0
= 3,000
Al 7,000
03 A2 HI 10,000 10,000 0
OXUS2AU S¢ AT3
10,000,000& 10,000
= 3,000
Al 7,000
=2 0 2yee & 23| 9,690 9,690 0
= 5,700
Al 3,990
308 AXIHMSOIH 9,690 9,690 0
= 5,700
Al 3,990
01 MASHNBSExRS 9,690 9,690 0
O=0F0 oo & 3|
9,690,000 9,690
= 5,700
Al 3,990
Ol ANDXAAY FAES 29 19,990 9,981 10,009
201 Ler2aY| 19,990 9,981 10,009
01 At 2teltl 19,990 0 19,990
OULAXNDXNAAE FSAE+ES
19,990,0002 19,990
VLRI Y =T 22 212,058 143,514 68,544
= 124,740
Al 87,318
403 RXIHHMSA=01H 212,058 143,514 68,544
= 124,740
Al 87,318
01 XM A 22X 212,058 143,514 68,544
OLL?UE Sl I=H 2=
212,068,000& 212,058
= 124,740
Al 87,318
F3XNS FOUIAL &5 416,000 416,000 0
= 320,000
Al 96,000
403 MXISHHMSKH=0(& 416,000 416,000 0
= 320,000
Al 96,000
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el Ly Hat (Gt H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
01 XEXISHMA 222 416,000 416,000 0
O8ZXs =UUILALE &5
416,000,000 416,000
= 320,000
Al 96,000
H3XS FoUUIALE 2F2el 218,753 187,370 31,383
308 XXM SOl 218,753 187,370 31,383
01 XIS E2x= 218,753 187,370 31,383
O3S FLUUIIAE 2g2c
218,753,0002 218,753
Qe OIAIE & Hidg+AlE 82 3,240 3,240
202 0| 3,240 3,240
01 2oL 3,240 3,240
OUImAE S &84 3,240,000 3,240
WHBEAAY 29 1,808,738 1,677,845 130,893
= 48,000
ES 675,000
Al 1,085,738
d2AE HIMHEH =l 594,738 564,635 30,103
201 Ler2aY| 546,678 501,647 45,031
01 Ab2teltl 291,554 8,120 283,434
OZEgR 4822 =8|
8,064,000 8,064
OLYRZBLEHT RS HIY MA
140,000 140
Oae ZEAE S8 RAUE+ G
283,350,0002 283,350
2 s5=23Hl 255,124 493,527 A\238,403
O=s2= £ HMAl 240,124,0002 240,124
OAIZEHIS A 15,000,000& 15,000
202 Ot 7,920 8,880 1960
01 2oL 7,920 8,880 2960
OZZ2A01el HHUWF L O£
7,120,000 7,120
Ootsol2d=s OldaH &8
800,000 800
206 MHZHI 40,140 54,108 13,968
01 M=ZHl 40,140 54,108 13,968
OZEAE == =X wH
40,140,000 40,140
QIUIAHE AKX SHA 80,000 80,000 0
= 32,000
Al 48,000
401 AlZHIL 2 0HY] 80,000 80,000 0
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ARIOtM =5 FA AR
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MHHZBEAAE 2 AR
12 2 - B O9(3) - HRAY - BaES il &k A 2
= 32,000
Al 48,000
01 Al&Hl 80,000 80,000 0
OQYUAAHE ARLXA §
80,000,000 80,000
= 32,000
Al 48,000
01gre] J2AIE O 1,134,000 1,025,000 109,000
= 16,000
EN 675,000
Al 443,000
201 Ler2 | 54,000 0 54,000
= 16,000
Al 38,000
02 3244l 54,000 0 54,000
Ooglgrel FEAIE Fl 54,000,000& 54,000
= 16,000
Al 38,000
401 AIEHIZL 28I 1,080,000 1,025,000 55,000
EN 675,000
Al 405,000
01 Al&Hl 1,080,000 1,025,000 55,000
OZaN 5
405,000,000& 405,000
OZEXNY =
675,000,000& 675,000
o~ 675,000
HEH2HZH| 23,000 21,713 1,287
Jl2Z Ul (U] ACHEE D) 23,000 21,713 1,287
22| 23,000 21,713 1,287
201 Let23| 10,800 9,849 951
01 ArR22ltl 10,800 9,849 951
ORAN2d+=2H] 6,240,000& 6,240
OJ|2gR+8 S| 4,530,000 4,560
202 04d| 8,000 7,664 336
01 =LHO4 L] 8,000 7,664 336
OJl=dR=d 0d 8,000,000& 8,000
203 LR =&H| 4,200 4,200
M PA2HHRF 4,200 4,200
ORA2IARE 4,200,000 4,200




